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QUESTION 1

How can a developer customize the reporting period so that the year has 52 weeks, with 7 days in each week, yielding
364 days?

A. Set up a lunar time period.

B. Set up a time period based on a calendar year.
C. Set up a time period based on fiscal year.

D. Set up a relative time category.

Correct Answer: A

QUESTION 2

To add dimensional data to an existing model, how can metadata be leveraged from other published OLAP packages?
A. Insert an OLAP package in the data source list.

B. Import a PowerCube as a data source.

C. Add dimensions from an OLAP package in the dimension map.

D. Add a data source query using a Cognos 10 OLAP report.

Correct Answer: C

QUESTION 3

What can be applied to a category if only the parent and child categories arerequired?
A. Suppress

B. Exclude

C. Summarize D. Cloak

Correct Answer: A

QUESTION 4
How can a developer rebuild an incrementally updated cube?
A. Enabletime-based partitioning and rebuild the cube.

B. Clean house and rebuild the cube.
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C. Save the model, and revert to the backup .mdl file.
D. Delete the old .mdc file and recreate the entire cube.

Correct Answer: D

QUESTION 5

What improves performance in the reporting application by combining records with identical non-measure values?
A. Consolidation

B. Partitioning

C. PC Optimizer

D. Crosstab caching

Correct Answer: A
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